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Writing Inequalities from a Number Line Name:
Write an inequality to expressthe number line. Answers
B) J8 47 6 5 4 8 2 W 0 9 8 7 6
<| T T T x T T T \J T T T T I» EX X < _11
1) -160 -150 -140 -130 -120 -110 -100 -90 -80 -70 -60 -50 -40 1
<= ! ! ! : O | | | | | | : g '
X
2,
2 -120 -110 -100 -90 -80 -70 -60 -50 -40 -30 -20 -10
| | | | | I O : : : : =
X 3
3) -180 -175 -170 -165 -160 -155 -150 -145 -140 -135 -130 -125 -120
| | | | | | O : : : : ! > 4,
X
4) 70 75 80 85 90 95 100 105 110 115 120 125 5.
| | | | | I O : : : : =
X
6.
5) 25 30 3H 40 45 50 55 60 65 70 75 80 8 9
| | | | | I O : : : : : : =>
X 7.
6 2 -1 0 1 2 3 4 5 6 7 8 9 10 1 12 8
-« | | | | | H—@— : : : : : >
X
9.
7) 100 110 120 130 140 150 160 170 180 190 200 210 220 230 240
<= : : : : : —@— | | | | | >
X 10.
8) 0 1 2 3 4 5 6 7 8 9 10 11 12 13
-« | | | | I @ : : : : : : > 11.
X
9 1 2 3 4 5 6 7 8 9 10 11 12 13 14 12
-« | | | | | I @ : : : : : >
X
13.
10) 60 70 80 90 100 110 120 130 140 150 160 170
-« | | | | I @ : : : : >
X
11) 5 5 60 65 70 75 80 8 90 95 100 105 110 115 120
-« | | | | | —O— : : : : : =>
X
12) -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0
-« | | | | I @ : : : : >
X
13) -40 -30 -20 -10 0 10 20 30 40 50 60 70
-« | | | I @ : : : : : >
X
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www.CommonCoreSheets.com 6ee8 11-13|15/ 8 | O




|

Writing Inequalities from a Number Line Name. Answer Key
Write an inequality to expressthe number line. Answers
S e e e e S R s U N B
<| T T T x T T T \J T T T T I» EX X < _11
1) -160 -150 -140 -130 -120 -110 -100 -90 -80 -70 -60 -50 -40 1 X <-110
< : : ! : O | | | | | | > '
X
2 X >-60
2 -120 -110 -100 -9 -8 -70 -60 -50 -40 -30 -20 -10
| | | | | | O : : : : >
X 3 X >-150
3) -1I80 -1I75 -1I70 -1I65 -1I60 -1I55 -%30 -1!45 -1!40 -1!35 -1!30 -1!25 -1!23 . X > 100
X
49 70 7 80 8 90 95 100 105 110 115 120 125 > X >95
| | | | | | O : : : : >
X e X=5
5) 25 30 35 40 45 50 55 60 65 70 75 8 8 9D
T T T T T T \J 1 1 1 x 1 1 1 |> 7 X S 170
6 2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 8 X=>6
-« | | | | | H—@— : : : : : >
X
9 X=>8
7) 100 110 120 130 140 150 160 170 180 190 200 210 220 230 240
< : : : : : —@— | | | | | >
X 0. X =120
I S B R S-S A T N S P Y.
X
> o
9 1 2 3 4 5 6 7 8 9 10 11 12 13 14 2 X2-5
-« | | | | | H—@— : : : : >
X 13 X=10
100 60 70 80 90 100 110 120 130 140 150 160 170
-« | | | | | @ : : : : >
X
11) 5 5 60 65 70 75 8 8 90 95 100 105 110 115 120
-« | | | | | —O— : : : : : >
X
12) -1 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0
-« | | | | | @ : : : : >
X
13y 40 -30 -20 -10 0 10 20 30 40 50 60 70
-« | | | | @ : : : : : >
X
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